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Introduction
At RAN2 #115-e meeting, the following agreement was achieved by RAN2:
Agreements:
When data is available for transmission to one or more RX UE in DRX, TX UE selects the resources taking into account the active time (current or future) of the RX UE(s) determined by the timers maintained at the TX UE.  Details are FFS. FFS whether RAN1 or RAN2 implement this restriction. 
In the incoming LS R1-2108710(R2-2108997), RAN2 raised a question on whether/how RAN1 intends to reflect the restriction in the above RAN2 agreement. In this contribution, our views are given.
Discussion on resource selection within DRX
As elaborated in the incoming LS R1-2108710(R2-2108997) from RAN2[1]: 
	RAN2 has discussed resource selection at the TX UE when communicating with RX UE(s) in DRX. Firstly, based on RAN2 agreements, RAN2 have the following understanding about the TX UE:
· [bookmark: _Hlk80425482]For unicast, the TX UE maintains a set of timers per pair of source Layer-2 ID and destination Layer-2 ID corresponding to the SL DRX timers in the RX UE.  For groupcast/broadcast, the TX UE maintains a set of timers per destination Layer-2 ID corresponding to the SL DRX timers in the RX UE.  The TX UE uses the timers as part of the criterion for determining the allowable transmission time for each RX UE.  
· For transmissions to RX UE(s) using SL DRX operation, LCP restrictions ensure that a TX UE transmits data in the active time of the RX UE(s).
Furthermore, in RAN2#115-e, RAN2 made the following agreements:
Agreements:

When data is available for transmission to one or more RX UE in DRX, TX UE selects the resources taking into account the active time (current or future) of the RX UE(s) determined by the timers maintained at the TX UE.  Details are FFS. FFS whether RAN1 or RAN2 implement this restriction. 

For unicast, the TX UE selects the resources for the initial transmission associated with any active time (e.g. on duration timer or inactivity timer, or retransmission timer) at the RX UE. How to handle cases when a transmission may cause these timers to be running at the RX UE is FFS. FFS on groupcast. FFS on whether any spec impact.

For unicast, the TX UE can select the resources for the retransmission associated with any active time (e.g. on duration timer or inactivity timer, or retransmission timer) at the RX UE.  How to handle cases when a transmission may cause these timers to be running at the RX UE is FFS. FFS on groupcast. FFS on whether any spec impact.

For broadcast, the TX UE can select the resources for the initial transmission associated with any active time supported by broadcast (i.e. on duration) at the RX UE. 

For broadcast, the TX UE can select the resources for the retransmission associated with any active time supported by broadcast (i.e. on duration) at the RX UE.

ACTION: 	RAN2 respectfully asks RAN1 to take the above agreements into account and inform RAN2 whether/how RAN1 intends to reflect the restriction in the following RAN2 agreement “When data is available for transmission to one or more RX UE in DRX, TX UE selects the resources taking into account the active time (current or future) of the RX UE(s) determined by the timers maintained at the TX UE.  Details are FFS. FFS whether RAN1 or RAN2 implement this restriction 


To reflect the restriction on resource selection, the following issues should be taken into account:
Issue 1: The entity for processing resource selection.
As cited in above LS, “For transmissions to RX UE(s) using SL DRX operation, LCP restrictions ensure that a TX UE transmits data in the active time of the RX UE(s).” And as we know, the LCP for resource selection and DRX configuration are all finished in MAC and RRC layer. Thus, the entity of processing resource selection should be MAC entity.
Issue 2: DRX information for resource selection 
From RAN2’s progress in RAN2’s last meeting, many rules were agreed by RAN2, and RAN2 also agreed that the active time could include e.g. on duration timer ,inactivity timer, or retransmission timer for unicast. But physical layer has no idea on the timers of DRX. Besides, at the same time, more than one DRX for Rx UEs could be available at one Tx UE, which one should be taken into account in sensing is not clear for physical layer. Thus, this restriction on resource selection with DRX is better done by RAN2.  
Issue 3: Restriction on candidate resource set or on resource selection result
The intention of RAN2 is to reflect the RAN2 agreement “When data is available for transmission to one or more RX UE in DRX, TX UE selects the resources taking into account the active time (current or future) of the RX UE(s) determined by the timers maintained at the TX UE. “ .There are two potential ways to meet the requirement:
Way 1: Restriction on candidate resource set in which all of the resources are in active time of DRX for Rx UE.
Way 2: Restriction on resource selection result that the resource at least for initial transmission is in active time.
If way 1 is adopted, the candidate resources should be limited in the active time, making the RAN1 specification work hard if not impossible. Considering the flexibility and the motivation from RAN2, Way 2 is more consistent with RAN2’s intention. Based on this, way 2 can be done by MAC properly. 
Based on above analysis, we suggest that the restriction on resource selection with DRX should be done by RAN2 instead of RAN1.
Proposal 1: The restriction on resource selection with DRX should be done by RAN2 instead of RAN1.
Conclusion
This contribution concludes with the following proposals:
[bookmark: _GoBack]Proposal 1: The restriction on resource selection with DRX should be done by RAN2 instead of RAN1.
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